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GCSE  Answers to examination-style questions




	Answers
	Marks
	



	1 
	In a coal-fired power station, fuel is burned to heat water. This produces steam at high pressure, which makes a turbine spin round. This then drives a generator that produces electricity.
	6
	

	2 
	A
falling water 
1
B
tides


 4

C
waves 

2

D
wind 


3
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	3 
	B
A solar cell generates electricity when it is supplied with light.
	1
	

	4 
	To increase power quickly, and to meet changing demand and prevent power cuts.
	1
	

	5 
	Pumped storage; electric pumps pump water into a high reservoir and this is later released through a turbine.


	3
	

	6
	To increase the voltage on the cables and reduce power losses. 
	2
	

	7
	a
Any two from the following:



conserves crude oil reserves;



is a renewable resource;



is carbon neutral
b
Any two from the following:



may lead to deforestation;



reduces land available for growing 

food;



may lead to soil erosion
	2

2
	

	8
	a
All other sources account for 75%;


gas is 25% or 
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 or 0.25 
b
Gas/coal/oil 
c
Hydroelectric 
d
Any sensible answer, e.g. wood 
burning. 
e
Nuclear or hydroelectric
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1

1

1
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	9
	      There is a clear, balanced and detailed description of the effect that gases could have on the environment and what could be done to reduce the gas emitted. The answer shows almost faultless spelling, punctuation and grammar. It is coherent and in an organised, logical sequence. It contains a range of appropriate or relevant specialist terms used accurately. 

      There is a description of at least 2 effects that gases could have on the environment and at least one example of what could be done to reduce the gas emitted. There are some errors in spelling, punctuation and grammar. The answer has some structure and organisation. The use of specialist terms has been attempted, but not always accurately. 

      There is a brief description of at least one effect that gases could have on the environment or one example of what could be done to reduce the gas emitted. The answer has little clarity and detail. The spelling, punctuation and grammar are very weak. The answer is poorly organised with almost

      no specialist terms and/or their use demonstrating a general lack of understanding of their meaning. 

     No relevant content.

     Examples of physics points made in the response:
•    carbon dioxide is a greenhouse gas    
•    can contribute to global warming.

•    carbon dioxide may be removed by CCS.

•    sulfur dioxide (named) 
•    dissolves in rainwater
•   to form acid rain
•   which can destroy vegetation/cause leaf loss in trees, etc.

    •    Sulfur may be removed from fuels before burning.
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